Tempest |
AK7000AS
AK7036AS
AK7042AS

31
32
37
33 -~
34 >~
35 S

36/

12

(13

13-2



ZEPHR

AK7000AS, AK7036AS, AK7042AS

Tempest |

Ref # |Part # Description Qty.
1 50160007 Cap, 6" Round 1
2-2 54200011 Junction Box 1
2-3 54140028 Bracket, Motor 2
2-4 11030016 Wires, Electrical 1
2-5 54140029 Filter Clip (30" x 2) 3
2-6 54190009 Panel, Switch 1
2-7 56210011 Connector Cover 2
2-8 54190010 Plate, Interior 1
3 11000022 Assembly, Switch 1
3-1 54140044 Bracket, Switch 1
3-2 52170033 Housing, Switch Board 1
3-3 52110011 Switch Membrane 1
3-5 56200050 Cover, Switch Housing 1
3-6 11030035 Wiring, Switch 1
3-7 11010028 Switch Board 1
4 56200009 Housing, Control Board 1
5 11010031 Control Board 1
5-1 12170002 Fuse, 4A, 250V 1
6 CBI1-600B Motor Assembly 1
6-1 54190011 Plate, Motor 1
6-2 12120043 Motor 1
6-3 56200037 Capacitor Box 1
6-4 56210018 Cover, Capacitor Box 1
6-5 11030021 Wiring, Motor w/Capacitor 1
6-6 54060004 Damper, 6" Round 1
7 50500002 Assembly, Panel (AK7000AS, AK7042AS) 1
7-1 50120023 Panel (AK7000AS, AK7042AS) 2
7-2 54160009 Spring Clip (AK700AS, AK7042AS) 2
8 50210007 Baffle Filter (30" x 2) 3
8-2 50280002 Handle, Baffle Filter (30" x 4) 6
9 50500003 Assembly, Panel Bottom (AK7000AS) 1
9 50500005 Assembly, Panel Bottom (AK7036AS) 1
9 50500006 Assembly, Panel Bottom (AK7042AS) 1




9-1 50130074 Panel, Bottom (AK7000AS)

9-1 50130075 Panel, Bottom (AK7036AS)

9-1 50130076  |Panel, Bottom (AK7042AS)

9-2 01020016 Screw, SS Cariage x 1/2"

10 50500004 Assembly, Light Panel (AK7000AS)

10 50500007 Assembly, Light Panel (AK7036AS)

10 50500008 Assembly, Light Panel (AK7042AS)

10-1 |50110051 Panel, Light (AK7000AS)

10-1 |50110052 Panel, Light (AK7036AS)

10-1 |[50110053 Panel, Light (AK7042AS)

10-2 12100025 Socket, Light, GU-10

10-3 54190002 Light Socket Plate

10-4 56200049 Housing Light Socket

10-5 |56250002 Insulator, Light Socket

10-6 (11040011 Switch Control (Heat Lamps)

11 Z0B-0023 Bulb, Halogen, GU-10 35W

12 54050009 Rectangular Starting Collar

13 54050059 Transition Adaptor, Rectangular

14 50140078 Panel, Interior (AK7000AS)

14 50140079 Panel, Interior (AK7036AS)

14 50140080 Panel, Interior (AK7042AS)

15 05000051 Hardware Packet

15-1 (01650001 Screw, 3/16" x 3/8"

15-2 |01090001 Screw, M6 x 1"

15-3 |01090002 Screw, M6 x 1-1/2"

15-4 |01090003 Screw, M6 x 2"

15-5 |15000002 Cap, Wire

15-6 |01060004 Screw, M3 x 8mm

15-7 (01070010 Screw, M4 x 8mm

15-8 |15000004 Suction Cup

DEC10.0201

RPOo(NW(AdMADMPRPIRPIRPIRPIRPIRPINININIVININIRPR|IRPIRPIRPIRP|IRPIMR|R|PR




	AK7000AS.pdf
	xAK7000AS

